Review Problems
1. Which mode of inheritance explains the following?
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2. Describe the following people given their karyotype: ' j A
47, XX, +21 R R ' ’%g, v
| & Ve ing*‘m 08wty TV g*y’ o Vfii f’: f" € e
45, XY, -2 SO v, T, K

3. What type of mutation has taken place? ,
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4. Smooth pea pods are dominant over wrinkled pea pods and the trait shows complete dominance. A cross

of a homozygous recessive pea plant and a heterozygous pea plant resulted in 1452 pea plant offspring,
826 smooth and 626 wrinkled. Using a Mendelian test cross, predict the expected result. Use the ¥ test

to determine if the obsirved offspring fit that pre,,dlctzon
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5. Determine the mode of inheritance for red hair and write the genotypes for the people in the following
pedigree.




